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Simplifying Expressions (E)

Simplify each expression.

Z4+3+27 437 +47 6. 2+uy+4y+1+u
S+tav+1+av+a 7. 5a—3—5a*+3a*— 1
b—x* 414 142b 8. —3b+2—67+1—b
2224+ 6v+5v4z—v 9. 3¢y + ¢+ 6¢* 4 4c — 6y*
5a+2+a—1+454° 10, u+v—1-+46uy—2v
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Simplifying Expressions (E) Answers

Simplify each expression.

Z43+27 437 +47 6. 2+uy+4y+1+u
=827 +z+3 =uy+4y+u+3
SH+av+1+av+a 7. 5a—3—5a*+3a*>— 1
=2av+a+6 :—2a2+5a—4
h—X*+ 14142 8. —3b+2—6z+1—b
= x> 420 +b+2 = —4b—67+3

272+ 6v+SvFz—v 9. 3¢y + ¢+ 6¢% +4c — 6y?
=272 +10v+7 = 3cy +6¢* — 6y* 4 5¢
Sa+2+a—1+54° 10, u+v—1-+6uy—_2v
:5a2—|—6a—|—1 =6uv+u—v—1
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